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Tick the correct boxes:

1 loT means...
a. Internets of thing
b. Internet of things
c. Intranets of thing
d. Intranet of things

I

2 In the near future, loT will be made up
of...

a. asingle device []
b. millions of devices []
c. hundreds of millions of devices [ |
d. billions of devices []
e. hundreds of billions of devices [ |

3 The devices in the loT are connected...

a. directly to one another []
b. to the internet []
c. tothe server []

4 When loT devices are communicating
together, these form...

a. anintelligent system []
b. a big device []
c. an android L]
d. arobot L]

5 List some examples where 10T can help
humans.

a. The control of road traffic []
b. The automation of home
applications []

c. Checking the weather conditions []
d. Keeping record of library books []
e. Citywide traffic system []

Answers

1b
2e
3b
4a
5abce
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